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ot = 20244 2024\ ZA3Y | Z22(%) 1t = 20244 20244 Z2AZH

2 &t = ol &k (A) 24 (B) (C=B-A (C/A*100) 2 &t =2 ol aF (A) 24 (B) (C=B-A
& H 300,511,000 307,684,516 7,173,516 2.39 g A 300,511,000 307,684,516 7,173,516
AALATISES Al 19,200,000 19,200,000 = 0.00 AP HI Al 208,841,270 154,144,042 -54,697,228
ad 2+ 2 H 19,200,000 19,200,000 = 0.00] Ol 4 H| 2 176,318,300 144,368,405 -31,949,895
AarH S+ 19,200,000 19,200,000 - 0.00 =0 105,923,750 90,539,900 -15,383,850
At =21 Hl - - - 0.00] LEES 21,058,230 21,000,000 -53,230
At =21 2H - - - 0.00] M= 21,201,820 16,031,230 -5,170,590
D2 )3AIE S - - - 0.00] EINSYLERNNEZ 10,227,720 6,620,605 -3,607,115
HFEE Hl - - - 0.00] MNIEEREHIE 11,291,780 9,209,820 -2,081,960
tEE4 2H - - - 0.00] JIEtZ= M| 6,620,000 966,850 -5,653, 150
HE 4 - - - 0.00] ARFAH| 2 200,000 35,500 -164,500
S2x3242 Hl 129,865,500 129,893,500 28,000 0.02 Jl223h| -
2x3242 2H 129,865,500 129,893,500 28,000 0.02 3o/l 200,000 35,500 -164,500
NEBXZS 129,865,500 129,893,500 28,000 0.02 =294l 2 32,322,970 9,740,137 22,582,833
(0:1s]] 1,200,000 -1,200,000
2R3 Hl 13,800,000 24,802,600 11,002,600 79.73 2323 10,000,000 2,274,300 =7,725,700
*2BHYSE 7,262,970 3,632,257 -3,630,713
S35+ 2H 13,800,000 24,802,600 11,002,600 79.73 HASH3S 5,700,000 2,894,130 -2,805,870
NEZ23 3,000,000 502,600 2,497,400 —-83.25) XHEk| 4,500,000 120,500 -4,379,500
HXE=2A3 10,800,000 24,300,000 13,500,000 125.00] JIEt2 I 3,660,000 818,950 -2,841,050
3 Hl 48,000,000 48,000,000 = 0.00]] AHAFEAH| Al 9,830,000 5,158,705 -4,676,295
&= 2H 48,000,000 48,000,000 = 0.00] Al &HI 2H 9,830,000 5,158,705 -4,676,295
goldel =2 20,000,000 20,000,000 - 0.00 Al &HI - - -
golMeasd=a 28,000,000 28,000,000 - 0.00] KHEEF S HI 4,400,000 1,311,505 -3,088,495
(== Hl 79,348,472 79,317,212 -31,260 -0.04] A& &Y= XYl 5,430,000 3,842,200 -1,587,800

oaz 2H 79,348,472 79,317,212 -31,260 -0.04]

HEACOIRS (MR 17,633,312 17,633,312 - 0.00 AbHI Al 46,214,000 23,860,959 22,353,041
HEACO|R3(ZE2) 26,114,760 26,114,640 -120 0.00 29| 2 H 29,470,000 15,436,829 -14,033, 171
HEACoA3(BX2) 35,600,400 35,569,260 -31,140 0.00] A I 12,770,000 11,393,359 -1,376,641
Pl Hl 10,297,028 6,471,204 |- 3,825,824 =37. 15| =2J|2Zl 6,100,000 1,143,470 -4,956,530
&= 2H 10,297,028 6,471,204 |- 3,825,824 =37. 15| I =l - - -
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o = = ol &k (A) 2o (B) (C=B-A 2 =2 ol &k (A) 24 (B) (C=B-A (C/A*100)
Al 300,511,000 307,684,516 7,173,516 A 300,511,000 307,684,516 7,173,516 2.39
=SES02 60,000 - 60,000 °o|ZHl 2,500,000 150,000 -2,350,000 -94.00
JIEtOIZ2 01 K=& 193,028 28,840 |- 164,188 o2l 8,100,000 2,750,000 -5,350,000 -66.05
JIEtE =g 10,044,000 6,442,364 3,601,636 2 16,744,000 8,424,130 -8,319,870 -49.69
A S LA 8,740,000 1,012,000 -7,728,000 -88.42
O Ot S Ar2i i 2,792,000 2,412,630 -379,370 -13.59
WHE AL 50,000 37,500 -12,500 -25.00
KA AS W F AL 480,000 360,000 -120,000 -25.00
TrE XA 40,000 - -40,000 -100.00
4T 2SN AL 1,642,000 1,602,000 -40,000 -2.44
65 2SN AHI 3,000,000 3,000,000 - 0.00
SONE 57,020 - -57,020 -100.00
| 57,020 - -57,020 -100.00
SO 57,020 - -57,020 -100.00
OlBIEI =L I E 35,568,710 124,525,810 88,957,100 250.10
By 35,568,710 124,525,810 88,957,100 250.10
gHEts 35,568,710 35,569,260 550 0.00
- 88,956,550 88,956,550 0.00




